
部 番

1

2

3

4

5

6

7

8

9

品　 名

支　　柱

材　質

正　面　図 RTD - 25 - 10(11)

10

11

笠　　木

ボトムレール

A6N01S - T5

同　上

同　上

同　上

バラスター

インナースリーブ

クリップ

笠木クリップ

ボルト・ビス類

アンカーアングル

アンカーボルト

FCD 450

SS 400

SUS

① □90 × 90 × 10 / 4
⑨ φ4 × 20

バックプレート

側　面　図

Ａ～Ａ断面図

取 付 詳 細 図

220

37 146 37

Ａ

Ｂ

Ａ

⑤

90

9
0

10

4

5
0

1
2
5

2
0
0

9
0
0
 
(
 
1
1
00
 )

1
5

  φ9 水抜穴

⑧ FB 6 × 38

7
6
5
 
(
 
8
6
5 
)

6
0

100

⑦ FB 3 × 90

② 100 × 60 × 2.5

③ 80 × 50 × 2

④ 45 × 15 × 1.5

80

1
2
5

5
0

7
6
5
 
(
 
8
65
 )

6
0

1
5

45

⑥ Ｌ60 × 45 × 6

⑨ φ4 × 20

Ｂ

⑨ φ4 × 16

60 90

Ｂ～Ｂ断面図

同　上

⑩ 60 × 25 × 7

⑪ M16 × 140

50

3
5 6
0

⑨ M8 × 20 35

SUS 304

120 2500 2500

200 14 × ＠150 = 2100 200 200 14 × ＠150 = 2100 200

2500

⑨ M10 × 120

⑨ M8 × 30

⑨ M10 × 30

1
2
0
0
 
(
 
1
3
0
0 
)

1
0
0
0
 
(
 
1
1
0
0 
)

2
0
0

同　上

A6063S - T5

⑥ Ｌ60 × 45 × 6


